
50 SXR PRO JUNIOR <1993><EU><600171>
SHOCK ABSORBER

26948

Pos Part Number Description Additional Text Quantity

1 45004010000 SHOCK ABSORBER 1.00

1 45004010100 % SHOCK ABSORBER 1.00

2 0931100453 HH SCREW DIN0931-M10X45 2.00

3 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 4.00

4 0985100003 SELF LOCKING NUT DIN0985-M10 2.00

5 45004030000 SWINGARM ADV/PRO JR 1.00

5 45004030200 SWINGARM 1.00

6 45004031000 BUSHING BOX L=30 MM 2.00

7 45004039000 SPACING TUBE 10X13X140 MM 1.00

8 0912101603 AH SCREW DIN0912-M10X160 1.00

9 54630044000 COLLAR NUT M10 WS=13 1.00

10 45004066000 CHAIN GUIDE FRONT 1.00

11 0015050303 HH COLLAR SCREW M 5X30 WS=8 3.00

12 0985050003 Self locking nut DIN 985 M5 3.00

13 45004070000 CHAIN GUIDE REAR 1.00

14 45010083000 CHAIN ADJUSTER 2.00

15 45010083060 SUPPORTING BRACKET 2.00

16 0985080003 SELF LOCKING NUT DIN0985-M 8 2.00



17 45007060000 CHAINGUARD 50 SXR ADV./JUN. 1.00

18 45007060100 CHAINGUARD 50 SXR PRO SEN. 1.00

19 45004010090 HOOK WRENCH 50 SXR 1.00


